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Question 1

Which one of the following statements is false?

Question 2

Discover' is a word, where the prefix is

Question 3

In the sentence, 'But honesty is the best policy., the constituent [honesty is the best policy] is

Question 4

For the NP 'Those exciting football matches', exciting is

Question 5

In the tree diagram 'The men in the village, across the river behind the mountain., mountain is an N, from

Question 6

Which one of the following statements is not a principle for teaching grammar for communication?

Question 7

The Creative Function of the Communicative Process was proposed by

Question 8

The word 'measure' has'

Question 9

Speech is produced when the organs of speech move to produce a pattern of

Question 10

The three nasals of English are

Question 11

Mark the false statement. The 'Stress' falls on the root word when

Question 12

Discourse Analysis emerged in



Question 13

The Co-operative principle of Conversation was suggested by

Question 14

The condition of function for the utterance, 'l name this ship Jalkamal' is

Question 15

The utterance, 'l said it there!, is an example of

Question 16

| will call up sometime' is an example of

Question 17

The markers, 'For this reason', 'For that reason’, indicate

Question 18

Lemme write this' is an example of

Question 19

Decoding is the investigation of the language by

Question 20

The elements of meanings of the word 'good' in 'good win', 'good idea' and 'good reasons' can be broken down into

Question 21

Which of the following is not a feature of unstructured genre?

Question 22

The larynx is also known as

Question 23

A syllable is

Question 24

Clicks are speech sounds produced from

Question 25

The word 'Spatula' has

Question 26



The speech segments which are in complementary distribution with one another are

Question 27

The laterals of English are

Question 28

A speech sound which is produced by stopping the air from the lungs and then slowly releasing it with friction is

Question 29

Nucleus and tail are components of

Question 30

The maxim that says, 'minimize dispraise of the other'is

Question 31

Why roots and stems are free morphemes?

Question 32

Name the fallacy in the illustration ‘Can you pass me the ticket please’?

Question 33

Classify the ‘“-er’ of ‘Writer’ :

Question 34

What are the components of the structure of co-ordination?

Question 35

Give the tree diagram for ‘Car’ in ‘The man in the room and the girl in the car.’

Question 36

What is the focus of G3?

Question 37

What is a palate?

Question 38

What is Phonation?

Question 39



The final syllable structure of the word remove is -

Question 40

Which of the following is not an essential factor in classification of consonantal articulation?

Question 41

For the word ‘Apartment’ the stress is on —

Question 42

What was the trend in the systematic approach to Phonology in the 1960s?

Question 43

What is the full form of IPrA?

Question 44

Name a non-linguistic factor which does not influence register.

Question 45

When words are carefully used in an attempt to speak or write in an educated manner, it is an example of

Question 46

The meaning conveyed by the discourse, where the topic and focus of discourse are identified is:

Question 47

A lexeme is

Question 48

A speech sound which is produced by stopping the pulmonic air stream and then suddenly realizing it is

Question 49

Which of the following is a minimal pair?

Question 50

Describe the vowels in ‘ cart’, ‘cot’, and ‘caught’.

Question 51

The difference between alveolar nasal and velar nasal is in:

Question 52



‘g’ in good, bag and rugby are:

Question 53

Which of the following is a feature of English?

Question 54

What is Epiglottis?

Question 55

Which of the following is not a strategy to overcome pronunciation difficulty?

Question 56

Define a mono-morphemic word.

Question 57

What is zero form in morphology?

Question 58

’

Analyse the type of compound in ‘Cross-examine’.

Question 59

What are composite forms?

Question 60

The logical fallacy is a fallacy of



